Tatal Ma. of Pranted Poges—I16
24 E—ECON

2024

ECONOMICE

Fuill Marks : 80
Pass ldorks ; 24

Thmee : 3 hours

The fgures in the mergin indicate fUll marks for the questons

ALLOTMENT OF JdARKS
ParT—A : Introductory Microcconomics

Q. Ho. 1 carriss | mark each i 1=6= &
Q. No. 2 carries F murks each 1 Tuf = 13
O Now, 3-8 ceory f marks sach H 4ud = 16
). Mo, T earrics 6mearks : = 6
PapT—B ! Statistics for Economics

[3. No. B earries | merk each - leh= 6
. Ko. 9 carries 2 marks each i 2wl = 12
3. Nos, 10=13 carry 4 marks each ] Gua = 16
3. Koo 14 carries § marks - =

Total = &0

f426 | Conted.



21

PaRT—R
[
B=i—=
-
{ Introduetory Microeconomics |
{ TR e
{ i e < )
{ s v i e )
1. Answer the folluwing as directed |
== Peones Rolarsi TR
Frtre Pafifiresfes T ma .
i il P @
LDlefime witiliny.

iy siesn WAl
Ty AU w60

wmfie et o)
fB) Whal s budget line®
e cov e
mmi ce= He
raren e =
.fnr Draw a perfectly elastic demand curve
emm e Tftgrere e OV B

aail wf fefrnee wiim cen = AL
B s T R g i e

1r6e6

/426



(3]

fd! State the lnw of supply.

= R o o

gewzie THAT 2om w0
AT i |

£ TC=TVC & __.
[ Fill in the blank )
{ 0% 5 A )
{ “pamaa g w2 )
{ =P T W W )
{1 Whar in moant by equilibrium prm?'hng%
S e T
T T R R ot
TiE e et i
2. Answer the following questions : 2xG=12
o won T
Rpfisier woelis Toy we
e W s
‘h‘ Write two differences betwesn miers- and macro-
CoOMOmIcS, 2
Tl e il el e T e By
s o e Wi e 5 s o

f426

e vt s g e o s S wom B
Or / wem / wwe / gy
State two characteristies of production possibility
TuTe,
e il ovom i el Sy v
Fre maer v g Defl e v
P amaren i e S sy '

| Coerted.



[ %)
lel=3

ity Defoe -

/426

e By g

T i

’:’;‘ﬂm 'I;I'l :

1 Microeconomics il
a4 =i TR N
alRe ) met T AT
w’ Ty il

Chr sy ¢ ey oy

Write any swe central Freblems facing an ssonamy,
=T e =gl e ) TR Th iy T fem
Mhﬂmm*mnmm'jm‘mm:
Mﬁﬂhﬁmmwﬂmmhﬁm

Cpportunity cost

2

Siate the law pf eiminishing margine utility. 2
TEHAT 2T EoTn e (i T )
Fagrre sffee Tegutem FRE Soew e
T R e St

Cde £ Tnpay & wyven o ey
A 20% [all i the price of o commedity leads to 25%
inerense in demand, Calculate the prise eluaticily af
demand.
wn ot orry 0% =7 TR w18 25% IR T wfem
Rfbwrrs s o
qﬁ;mtﬁaﬁﬂ%mwﬁrﬁwi%ﬂmurﬂﬂm
firir=ier e gom
o it A 200 a4 e 25 g el
i e S



i1 5)

__ {4} Define production functicn. Wrile onc fenture of it

\ 1+1=2
opm e womn R o ol Bl fen o
S T T WA an ool DRl o
ftﬁﬂny{ﬂ‘.-ﬁﬂﬂ!?lﬁ&rﬁmmﬁn
Qr 7wy [

Write two difierences between fixzed cost and varable
cantl.

2
S 7 e AR AR TR G
forg o vl daTe s won YT e o0

Sy e s st Ry S R e S

fa) Diefine monopoly market. State one feavars of it -
1el=

e e T P T o L e S
ey v Syeem e | D TG o o
e R e 11 S e g

o § mEE ¢ sew T
Write two assusaptions of peefect competition. 2
'v;ﬁmrﬂfmmrlihn
Tfmrﬁmf-mmmw
ﬂmmﬂmﬂhﬂﬂrﬂﬂm‘h1

ja26 | Conid.




16)

{f Explain the chuin of efecly of excess supply on ]
equilibrium price. ,
TR MY oS RN IR e SRR T T |
S B e conm R SRR T
s il v i e frty e d

Or / wmy [/ %am /v
Distingiluh Setwesn prics eoiling and prics oo,

T T e Sy fhe e i e
P.whtulmf-uﬂutmnmmrn
ihimiﬁwm‘imﬁr--ﬁ I

r3 Btale and sxplnin gy lew of demand with
dormang sekedyle and & curve

ew%wyﬁlmqwanum!ﬁ'qmmm
Lo ik T
ﬁﬁhﬂﬂﬁ%ﬂwﬂmquvﬁmm:emmw
Hﬁnmmﬁﬁﬁkiﬁﬁgﬂmhmﬁﬂfﬁmw’m
u

the help of a.
%4

O/ W W

Define prige clasticity of demand. Whart gre (he metheds of
meaaunng price clasticiny of demandy 143-4
I35 T (R Rheera v LTh LR e— T P
BE

MR T ey m-mﬂmaﬁhammwﬁgﬁ
8y
ﬁmmmgmmmﬁmﬁﬁwmmﬁmc

f426



o~

o

(7]

Explain the low of variable proportion with the help of
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